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class Date {
public:

Date (int m, int d, int y);

int Day ();
private:

int month, day,
}

7}, Date d(7,14,2002): cout {{ Day():

Lt Date d: d.Date(7,14,2002):

C}. Date d(7,14,2002); cout  d.year:
t

2. Date d(7,14,2002); cout ({ d.Month();
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class Hello {
public:

year;

void Greet (string name);

}s

0| g7} E22{X|H Greet2hs HH &= Hello, (name)2 E&4sic}. 0{7|AM (hame)2 Tl2lo|EZ
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class Complexity {

Complexity operator += (Complexity c);

(Complexity);

public:
Complexity ();
Complexity (int, int);
Complexity AddTo
void Print ();
private:

int myReal;
int myImaginary;
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Complexity::Complexity ()
{ myReal = 0;
myImaginary = 0;

Complexity::Complexity (int r, int 1)
{ myReal = r;
myImaginary = 1i;

Complexity Complexity::AddTo (Complexity c)
{ myReal += c.myReal;

myImaginary += c.mylmaginary);

return Complexity (myReal, myImaginary);

Complexity Complexity::operator += (Complexity c)
{ return AddTo (c);
}

void Complexity::Print ()
{ cout << myReal;
if (myImaginary >= 0)
cout << '+';
cout << myImaginary << 'i' << endl;
}

7} Complexity ¢; ¢.Print();

Lt. Complexity ¢(1,2); ¢.Print():

L}, Complexity c(1,-2); ¢.Print();

2t Complexity a(1,2), b(3,4); a.AddTo(b); a.Print( ):
0}, Complexity a(1,2), b(-3,4): a+=Db; a.Print():

15 x= 712 MAxHAutomatic Default Constructor) 2t PRLIX| lE{Ul X2 S FotA 2Esiz}.
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#include <iostream.h>

class BaseClass {

public:
char * getMessage() {
return "Good morning, World!";
}

}i

class SubClass: public BaseClass {
public:
char * getMessage() {
return "Good evening, World!";
}
}i

int main () {
BaseClass b, *p;
SubClass s;
p = &s;
cout << p->getMessage() << endl;
return 0;
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class Pen {
public:
Pen();
void move (int x, int y);
void penUp();
void penDown () ;
void special();
protected:
int getX ();
int getY ();
private:




int x, y;
bool isUp;
}i

void Pen::special()

{ penDown();
int savex = getX();
move (3,5) ;
bool saveStat = isUp;
setColor (32);
int ¢ = color;

class ColorPen : public Pen {
public:
ColorPen();
void move (int x, int y);
void setColor (int color);
void CPspecial();
protected:
int color;

}i

void ColorPen::CPspecial ()
{ penDown();
int savex = getX();
move (3,5);
bool saveStat = isUp;
setColor (32);
int ¢ = color;

1§ z#IxIE == 3242} (00P, Object Oriented Programming)2 “A9ixl20| gt Z2Te)el o2 otz
M glct Zxx|ge] 2Ao| 0lE 7kssH| S| B HolZ Esi2t.
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